Effect size Weight

Study with 95% CI (%)
Lowe, Matt (2021) . B 0.17[ 0.09, 0.25] 6.26
Friedman, Willa, Guthrie Gray-Lobe, and Michael Kremer (2024) = 0.11[-0.38, 0.60] 1.05
Baseler, Travis, Thomas Ginn, Robert Hazika, Helidah Ogude-Chambert, and Olivia Woldemikael (2023) —— 0.13-0.02, 0.28] 4.55
Bezabih, Mintewab, Sosina Bezu, Tigabu Getahun, Ivar Kolstad, Paivi Lujala, and Arne Wiig (2024) —— 0.33[ 0.05, 0.60] 2.50
Clochard, Gwen-Jiro (2022) = -0.11 [ -0.50, 0.27] 1.56
Loiacono, Francesco and Mariajose Silva-Vargas (2023) i 0.10[-0.03, 0.24] 4.94
Greene, Kenneth, Erin Rossiter, Enrique Seira, and Alberto Simpser (2022) = 5 0.29[ 0.21, 0.38] 6.18
Abril, Veronica, Ervyn Norza, Santiago M. Perez-Vincent, Santiago Tobon, and Michael Weintraub (2023) . 0.11[ 0.05, 0.17] 6.58
Burlacu, Sergiu, Federico Podesta, and Davide Azzolini (2024) —— -0.01 [ -0.16, 0.14] 4.69
Barros, Henrique Pita (2024) i 0.11[-0.03, 0.25] 4.86
Ghosh, Arkadev, Prerna Kundu, Matt Lowe, and Gareth Nellis (2024) - 0.20[ 0.10, 0.31] 5.64
Scacco, Alexandra and Shana Warren (2018) . = -0.04[-0.13, 0.05] 5.91
Grady, Christopher, Rebecca Wolfe, Danjuma Dawop, and Lisa Inks (2023) L 0.33[ 0.00, 0.66] 2.00
Zhou, Yang-Yang and Jason Lyall (2024) B -0.03[-0.09, 0.04] 6.46
Chang, Han Il and Leonid Peisakhin (2024) —- 0.13[ 0.01, 0.24] 545
Ditlmann, Ruth, Nejla Asimovic, and Cyrus Samii (2023) —i— -0.03[-0.27, 0.21] 3.04
Rossiter, Erin (2023) —- 0.17[ 0.06, 0.29] 5.45
Rossiter, Erin and Taylor Carlson (2024) —il— 0.47[ 0.29, 0.64] 4.09
Adamu, Sewareg, David A. Dow, Fitsum Hailu, Mesele Mengsteab, Jeremy Springman, and Juan F. Tellez (2023) B 0.01[-0.09, 0.11] 5.75
Sophie Négele, Katja Corcoran, and Ulrich Klocke (2024) - 0.19[ 0.09, 0.29] 5.70
Aidan Combs, Graham Tierney, Brian Guay, Friedolin Merhout, Christopher A. Bail, D. Sunshine Hillygus, Alexander Volfovsky (2023) —— 0.18[ 0.04, 0.32] 4.80
Adam Smiley (2022) —i— 0.27[-0.00, 0.54] 2.54
Overall < 0.13[ 0.08, 0.19]
Heterogeneity: T° = 0.01, I’ = 75.58%, H’ = 4.09
Test of 6, =6;: Q(21) = 85.53, p=0.00
Test of 6=10:z=4.86, p=0.00
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